Oh What a Night

Music:  December 1963 Frankie Vali

Choreography:  Jean Hickok

Wait  8 beats

Sequence:  Intro A B Chorus A Break C Chorus A Break C End

INTRO

8 Cross Points with/arms coming forward from back of stage in two lines
PART A

1 Rock Pull Triple

1Triple Brush
1 Stomp Double Basic

1 Samantha

1 Triple Brush
1 Stomp Double Basic

PART B
2 Basics

1 Fancy Double
Repeat 3X






PART C
4 Cross Basics

1 Charleston

1 Fancy Double

REPEAT

CHORUS




4 turning clogover vines
BREAK

2 Basics

1 Rock Around

1 Triple

Boogie 

1 High Horse

1 Cowboy with arms and full turn 
END

2 Slur Basics

1 Fancy Double ending in a rock heel

INTRO:

Back Row does the first 2 cross points in place to allow front row to get ahead of them

PART A:

Front row turns ½ left on the first triple brush
Back row does first triple bush in place with no turn

Back row turns ½ right on Samantha

Front row does Samantha in place

All turn ½ left on second triple brush

PART B:

Front row turns ¼ left on first basic moves forward on 2nd basic & turns ¼ left on fancy double
Front row moves behind back row on second 2 basics and ¼ left on second fancy double
Front row moves around back row on third 2 basics and ¼ left on third fancy double
Front row moves ahead of back row on fourth 2 basics and does a triple instead of fancy double 
Back row does the 2 basics and 1 fancy double in a box formation

PART C:

Front Row takes the first 4 cross basics back and the second 4 cross basics forward

Back Row takes the first 4 cross basics forward and the second 4 cross basics back
Lines pass each other

When moving forwad the cross basics are:  DS(xif) R(ots)S

When moving backward the cross basics are:  DS(xib) R(ots)S

First time through PART C, Front Row does a triple instead of second fancy double
Second time through PART C, Back Row does second fancy double forward to join front row 

CHROUS:

Front Row starts vines on right foot and does a DS on count 8 of last vine
Back Row starts vines on left foot
BREAK:

Same for both rows

End:

Same for both rows
